Friends,

(Take 3) – By Jove, I think I’ve got it!

Here’s the Executive summary for Modified Cappelletti. If you are interested in the details, then read the entire document. The convention is quite simple and easy to remember. The resulting efficiency is much improved over “standard” Cappelletti cue-bids!
· When the opponents have bid 2 suits and intervener has the other two suits, with at least a 2-card length disparity, intervener cue-bids the opponents’ LEAST EXPENSIVE SUIT, REGARDLESS OF HIS OWN LENGTH.
· Responder, with any 2-2, 3-2 or 3-3 holding in intervener’s two suits, puppets to the next available suit.
· Intervener either passes or corrects to his longer suit.
· Responder with 4-card length in one of intervener’s suits, bids naturally, but avoids the single step. (Optional: If responder has a bad hand, he can bid as if he is 2-2, 2-3 or 3-3.)
Eric, what do you think? Has this merit? Has it already been invented?

Gary

=======================================

  
Last week Serge remarked that the current definition of CCB leaves him wondering. 
 
The auction in question was as follows:
 
1H        P          2C        ???
 
Here is what our system notes state:
 
    Cappelletti Cuebids
    Opponents have bid two (2) suits                                        . 
    A cuebid is a two-suited takeout                                        .   
    Cuebid in least-expensive suit is takeout , showing greater length in 
           the lower-ranking  takeout  suit                                 .
    Cuebid in most-expensive  suit is takeout , showing greater length in 
           the higher-ranking takeout  suit                                 . 
    A two-card discrepancy (or equivalent {suit strength}) in the two suits 
      is normal                                                             . 
    Direct position only . Responder must be able to make a minimum response  
           below the four level                                             .   
    
    ex. 1D - P - 1S - ?    
            2D : Clubs & Hearts , longer Clubs  .
            2S : Clubs & Hearts , longer Hearts . 
 

 

 
Fourth seat had diamonds and spades. The “least expensive” suit is hearts. So, cue bidding 2H should show greater length in the lower ranking suit, diamonds. Cue Bidding 3C (more expensive cue bid) should show longer spades than clubs. Both bids force partner to bid at the three level. Serge’s comment was “that’s silly, why can’t we play spades at the two-level?” He has a point, particularly when partner has 3 spades and one diamond.
 
Let’s look at all the possibilities using the current system. Assume a worst-case scenario, where you hold 2 cards in partner’s shorter suit and 2 cards in partner’s longer suit (let’s ignore 1-2’s, you’re in trouble anyway!)  For example, partner promises longer clubs than spades. You have two spade and 2 clubs, so you would probably bid clubs.
 
CURRENT SYSTEM
	Opponents Have bid
	Intervener  Holds
	Intervener Cue-Bids
	Level Forced if responder holds 2-2

	1C – 1H
	Longer S’s than D’s
	2H
	2S

	1C – 1S
	Longer H’s than D’s
	2S
	3H

	1D – 1H
	Longer S’s than C’s
	2H
	2S

	1D – 1S
	Longer H’s than C’s
	2S
	3H

	1H – 2C
	Longer S’s than D’s
	2H
	2S

	1H – 2D
	Longer S’s than C’s
	2H
	2S

	1S – 2C
	Longer H’s than D’s
	2S
	3H

	1S – 2D
	Longer H’s than C’s
	2S
	3H


 
	Opponents Have bid
	Intervener  Holds
	Intervener Cue-Bids
	Level Forced if responder holds 2-2

	1C – 1H
	Longer D’s than S’s
	2C
	2D

	1C – 1S
	Longer D’s than H’s
	2C
	2D

	1D – 1H
	Longer C’s than S’s
	2D
	3C

	1D – 1S
	Longer C’s than H’s
	2D
	3C

	1H – 2C
	Longer D’s than S’s
	3C
	3D

	1H – 2D
	Longer C’s than S’s
	3D
	4C

	1S – 2C
	Longer D’s than H’s
	3C
	3D

	1S – 2D
	Longer C’s than H’s
	3D
	4C


 
 
 So, 12 of the possible 16 bids gets you to the three level in your 6-2. Not so good.
 
 
Lets’ modify the system a little bit:
 
Intervener, when holding two suits, always cue-bids the opponents’ CHEAPER suit, regardless of the length he holds in his two-suiter.
Responder puppets to the next available suit
No trump counts as a step.
 
 
PROPOSED SYSTEM
	Opponents Have bid
	Intervener Holds
	Intervener Cue-bids
	Responder with 2-2, 3-2, 3-3
	Intervener Bids

	1C – 1H
	Longer S’s than D’s
	2C
	2D
	2S

	1C – 1S
	Longer H’s than D’s
	2C
	2D
	2H

	1D – 1H
	Longer S’s than C’s
	2D
	2H
	2S

	1D – 1S
	Longer H’s than C’s
	2D
	2H
	pass

	1H – 2C
	Longer S’s than D’s
	2H
	2S
	pass

	1H – 2D
	Longer S’s than C’s
	2H
	2S
	pass

	1S – 2C
	Longer H’s than D’s
	2S
	2NT
	3H

	1S – 2D
	Longer H’s than C’s
	2S
	2NT
	3H


 
	Opponents Have bid
	Intervener Holds
	Intervener Cue-Bids
	Responder with 2-2, 3-2, 3-3
	Intervener Bids

	1C – 1H
	Longer D’s than S’s
	2C
	2D
	pass

	1C – 1S
	Longer D’s than H’s
	2C
	2D
	pass

	1D – 1H
	Longer C’s than S’s
	2D
	2H
	3C

	1D – 1S
	Longer C’s than H’s
	2D
	2H
	3C

	1H – 2C
	Longer D’s than S’s
	2H
	2S
	3D

	1H – 2D
	Longer C’s than S’s
	2H
	2S
	3C

	1S – 2C
	Longer D’s than H’s
	2S
	2NT
	3D

	1S – 2D
	Longer C’s than H’s
	2S
	2NT
	3C

	
	
	
	
	
	


Aha, some progress! Now we have found our 6-2 or 6-3 fit at the two level 50% of the time!
I think that responder will have three-card length in opener’s suit one out of three times. So, at least we find ourselves with a 9-card fit at the three-level, on average, at least 33% of the time.

Also, responder with a very good hand and a known 9-card fit can choose to bid on.

The system could be made more economical by having Intervener bid his long suit in steps by using 2NT as one of the steps; i.e. intervener bids the first step to show a longer minor, the second step to show a longer major, but this might be memory-taxing. Try it, though, because it really improves the level accuracy.
Let’s see what happens when responder has 4 cards in one of the two suits. He bids naturally, but always avoids the single- step.
	Opponents Have bid
	Intervener Holds
	Intervener Cue-Bids
	Responder has one suit with 4-card length

	1C – 1H
	Longer S’s than D’s
	2C
	2S or 3D

	1C – 1S
	Longer H’s than D’s
	2C
	2H or 3D

	1D – 1H
	Longer S’s than C’s
	2D
	2S or 3C

	1D – 1S
	Longer H’s than C’s
	2D
	3C or 3H

	1H – 2C
	Longer S’s than D’s
	2H
	3S or 3D

	1H – 2D
	Longer S’s than C’s
	2H
	3S or 3C

	1S – 2C
	Longer H’s than D’s
	2S
	3D or 3H

	1S – 2D
	Longer H’s than C’s
	2S
	3C or 3H


	Opponents Have bid
	Intervener Holds
	Intervener Cue-Bids
	Responder, with 4-card length

	1C – 1H
	Longer D’s than S’s
	2C
	2S or 3D

	1C – 1S
	Longer D’s than H’s
	2C
	2H or 3D

	1D – 1H
	Longer C’s than S’s
	2D
	2S or 3C

	1D – 1S
	Longer C’s than H’s
	2D
	3C or 3H

	1H – 2C
	Longer D’s than S’s
	2H
	3D or 3S

	1H – 2D
	Longer C’s than S’s
	2H
	3C or 3S

	1S – 2C
	Longer D’s than H’s
	2S
	3D or 3H

	1S – 2D
	Longer C’s than H’s
	2S
	3C or 3H


In the worst case, this gets us to the 3-level on 15 of 16 possible 8-card fits. Half of the time responder will have 4 cards in intervener’s 6-card suit, so that on average we will be playing in our 10-card fit half the time!! 

In the best case, it allows us to stay at the two-level in our 8- or 9-card fit 6 of 16 times. 
